EARAROBREBRT —5 XN—ZXBISH—F 2022648158 (&) 10EH4E

mC 1148 USFR /% ‘ %Z] & ‘ (BEEm - | 9 14000 B
[AXE%] 1 &:300,00 M  2&:90,00H  3#&:4500H  437%:30,000H 53 :15,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
. p— . 44 - IR ()
117]7 | =F52RU— 5 4 Eam 1.(3_2).3 5-4-4-4 | 39.2 1 413)3 gl 0\
RAVIRSAY Bad—EA TP~ FHERIS
", — 5 5 B N _ % A \
F—ovIHIS % 5 ﬁslﬁrﬁ (12312/2% 6-5-5-5 | 39.1 7 :1_33 gggg (54
R:ZAEIWN=T B:SA4TUN—hk [k e
—~)3 KEHET] . 76 _ L (0
YI=—vIL—F 8 | AR 1(73%:? 7-7-6-6 | 38.9 2 (4_63 %&%?( 1)
R:d7—=U7Y B:vIZvIatuvb SRS
2 SHEA . 30 = MEEER (EH)
yamareLT i 4 oHR (12313/23) 4-3-2-1 | 40.6 3 21_751) . #DEEWLW—Q
RikyId—=9II)YIT B:O—IVAVLYR WE IE
e 55 ||18 :33. -2-2- 9| - LEHES ()
SATTPIVIY 7 7¢53.0 (12313/28) e |49 ° (4_71‘; B2 )
R:d—URASO— B:XAT #A BE
N o == . 1_1_ _ 2 \
YIN=—TF— 44 gfg%oﬁz 1.(33%.5 1-1-1-3 | 42.4 6 (4+913) jﬁg%ﬁ (5E4Y)
R:FVH—0 B:IVAYFID MEZ Y R
3 s 5 | A 1:34.7 3-6-7-7 | 40.6| — 4 | 448 | NIB3LE (FHL)
7155 | AFFILEX=IL 54.0 a1/2 w) | (B BiEgs
RIRVIATFAwIDAUT— BFVITANY— BiERS
@ 1—F—&RIEL
13—7— 3,4,5,1,7,6,2
2d—73— 3,4,1,7,6,5,2
30—7— 3,(1,4),7,6,2,5
43—F— (1,4),3.7,6,2,5
o ILRE
BB 7 210M JA R 6-7 300/ 5 & 6-7 1,010 3EE 2-6-7 1,520
B B 7 140/ 2-7 1909 =51 7-6 1,160 3EH 7-6-2 4,810
6 6004 2-6 1,590

ABIC OV TRUTEREERRODDZE. THRIIZEL.



